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FHIRAE 5 PO TR AT & & JEE gy & 63 5 68 1 &
XK % 3 PO TR AT R 63.5 0 63.5 2 &
I 5 PO TR AT & 63 0 63 3 &
AR 5 PO TR AT & & JEE gy & 56 5 61 4 &
A % 5 PO TR AT & & JEE gy & 56 5 61 5 &
5Lt 5 PO TR AT & & JEE gy & 54.5 5 59. 5 6 &
i 5 PO T AR RAT = = FEEIn s & 54.5 5 59. 5 7 =
HAE % PO T AR RAT = & RSETA/EM N2 & 54.5 5 59. 5 8 &
YA E % PO AR ERAT = = PN s & 52.5 5 57.5 9 &
EAT % PO T AR RAT = = P EEIn s & 52 5 57 10 &
I % PO T AR ERAT & 55 0 55 11 &
HEZE % PO TR AT & 54.5 0 54.5 12 &
S 5 PO TR AT & 53.5 0 53.5 13 =
A % PO TR B HRAT & 53.5 0 53.5 14 =
Y4 5 PO T AR RAT & 53 0 53 15 &
AR 5 % PO T AR RAT & 53 0 53 16 &
ZENk % PO T AR RAT = & [REE LRI & 48 5 53 17 &
fil & % PO T AR RAT & 52 0 52 18 &
Z=7K % PR ERAT 7 51.5 0 51.5 19 i
AT % PR ERAT i 51.5 0 51.5 20 i
RS % TR ERAT & 51 0 51 21 5
T4k 5 PO T AR RAT = = FEE 4 = 44.5 5 49.5 22 5
akEh % PR ERAT & 49 0 49 23 5
AR 3 7 TR BT & & JEE gy 7 42 5 47 24 %
TR 3 7 TR BT & & JUEE gy 7 40 5 45 25 %
O EiE % TR ERAT i 44.5 0 44.5 26 5
= 5 PO T AR RAT 7 44 0 44 27 %
PN % PR ERAT 7 43 0 43 28 5
il 4 S % TR ERAT i 43 0 43 29 %
M % PR ERAT 7 42.5 0 42.5 30 i
TiEi % PR ERAT i 42.5 0 42.5 31 i
B % PO T AR RAT & 41.5 0 41.5 32 5
PIEl % PO T AR RAT & 41 0 41 33 i
=4 JEAE % PR ERAT & 40.5 0 40.5 34 i
RS % PO T AR RAT & 40. 5 0 40. 5 35 i
L % PO T AR RAT & 40 0 40 36 i
KUK 5 PO AR RAT & 38 0 38 37 i
SER % PR ERAT & 37.5 0 37.5 38 5
I bR % PO T AR RAT & 37.5 0 37.5 39 5
N % PO T AR RAT 2 2 FUE gy = 30.5 5 35.5 40 i
Rip 5 PO T AR RAT & 33.5 0 33.5 41 %
YN % PO T AR RAT & 30 0 30 42 %
i % PO T AR RAT & 29.5 0 29. 5 43 i
)54 5 PO T AR RAT & 29 0 29 44 5
PERR % PR ERAT & 27.5 0 27.5 45 i
kR 5 PO T R RAT & 26 0 26 46 4.\‘
B ER 5 TR RAT & 25.5 0 25.5 47 4.\‘
W& 5 TR RAT g 0 0 48 4.\‘
AR 5 7 TR B ARAT B 0 0 48 7
XIFF R 5 TR ERAT g 0 0 48 4.\‘
EoES 5 TR RAT g 0 0 48 4.\‘
e 5 7 TR B ARAT B 0 0 48 7
BER 5 TR RAT g 0 0 48 4.\‘
ERERR 5 TR ERAT g 0 0 48 4.\‘
E5H 5 TR RAT g 0 0 48 4.\‘
ENE 5 7 TR B ARAT B 0 0 48 7
SRELWFL [ B PH TR ERAT g 0 0 48 i
Y 5B 7 TR B ARAT HRERAR &
e 3 7 TR B ARAT HRERAR &
I 5B 7 TR B ARAT HRERAR &
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JH 6 HLH 5 7T R B HRAT CESYNA &
fEiki 5 7T R B HRAT CESYNA &
EiT 5 7T R B HRAT CESYNA &
WA H 5 7T R B HRAT CESYNA &
IR % PO R RAT 2 69. 5 69. 5 1 &
KLY %z 7T R B HRAT = = JUEEIN Sy & 57 5 62 2 &
i %z PO T R B RAT = = )k by & 56. 5 5 61.5 3 &
BRI Z PO R RAT 2 60. 5 0 60. 5 4 &
el % PO R B RAT = = )k by & 55.5 5 60. 5 5 &
BIE s %z PO T R B RAT = = )k by & 55.5 5 60. 5 6 &
[k i %z PO T R B RAT = = )k by 2 54.5 5 59.5 7 =
2= % PO R RAT & 59 0 59 8 &
KA %z PO T R RAT 2 59 0 59 9 &
Tl %z PO R RAT = = )k by & 53.5 5 58. 5 10 &
FE % PO R RAT 2 57.5 0 57.5 11 &
i % PO R RAT = = )k by & 52.5 5 57.5 12 =
ARiE % PO TR B RAT = = FEEm gy = 52 5 57 13 =
05 =~ 7T R EHRAT = = FEEIn gy £ 52 5 57 14 &
LE =~ PO TR B RAT £ 56. 5 0 56. 5 15 =
RIE % PO TR B RAT £ 56. 5 0 56. 5 16 &
BKE =~ PO TR B RAT £ 56. 5 0 56. 5 17 =
o5 =~ PO TR B RAT £ 55.5 0 55. 5 18 =
FETS % PO TR B RAT £ 53.5 0 53.5 19 &
TLER =~ PO TR B RAT = = FEEIn gy & 48.5 5 53.5 20 &
e =~ PO TR B RAT = = FEEIn gy £ 48.5 5 53.5 21 5
Gy % PO TR B RAT = = FEEIn gy & 48.5 5 53.5 22 &
5T =~ PO TR B RAT £ 53 0 53 23 &
ERvSin 'S 7T R EHRAT = = FEEIn gy £ 48 5 53 24 FD
BRI % PO TR B RAT £ 52.5 0 52.5 25 &
XA =~ PO TR B RAT £ 52.5 0 52.5 26 &
75 75 % PO TR B RAT £ 52 0 52 27 &
BT H % PO TR B HRAT & 52 0 52 28 5
A % PO TR B RAT £ 52 0 52 29 5
K= % PO TR B RAT & 52 0 52 30 5
B % PO TR B HRAT & 52 0 52 31 5
B EH % PO TR B RAT & = FEIN gy & 47 5 52 32 5
HEE % PO TR B RAT & = FEIn gy & 47 5 52 33 5
oA u PO TR B RAT & = FEIN gy & 46. 5 5 51.5 34 5
K % PO TR B RAT £ 51 0 51 35 5
i % PO TR B HRAT £ 51 0 51 36 5
REE | & PO TR B RAT £ 51 0 51 37 5
2R % PO TR B RAT £ 51 0 51 38 5
B % PO TR B HRAT & 51 0 51 39 5
/g % PO TR B RAT & & FEIN gy £ 46 5 51 40 5
B LA u PO TR B RAT & = FEIN gy & 46 5 51 41 5
AR u PO TR B RAT & = FEIN gy & 46 5 51 42 5
] % PO TR B RAT £ 50. 5 0 50. 5 43 5
ZsH % PO TR B ARAT £ 50. 5 0 50. 5 44 5
g % PO TR B ARAT & = JEE N4y & 45.5 5 50. 5 45 5
R 5’ PO TR B ERAT oy 50 0 50 46 5
eSS 5’ PO TR B ARAT oy 50 0 50 47 5
HSXi % PO TR B ARAT oy 50 0 50 48 5
LIS L 54 PO TR B ARAT £ 49.5 0 49. 5 49 5
A | & PO TR B ERAT oy 49 0 49 50 5
B H % PO TR B ARAT & & FEEIN Sy & 44 5 49 51 i
THI % PO TR B ARAT & & FEEIN Sy & 44 5 49 52 D
% 2 5E % PO TR B ARAT & & FEEIN Sy & 44 5 49 53 5
Sl % PO T AR B RAT £ 48.5 0 48.5 54 5
2R IAT] % PO AR B RAT £ 48.5 0 48.5 55 5
B R % PO T AR B RAT £ 48.5 0 48.5 56 5
e 54 PO AR B RAT oy 48 0 48 57 5
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T % PO R RAT & 48 0 48 58 i
Fkotih % PO R HRAT & 48 0 48 59 5
PR % VIR RAT & 48 0 48 60 5
1B 4 % PO R RAT & 48 0 48 61 i
T 88 % PO R RAT & = JEE ISy & 43 5 48 62 5
AN % PO R HRAT & 47.5 0 47.5 63 i
HER % PO R RAT & 47.5 0 47.5 64 5
PR % PO R RAT & 47.5 0 47.5 65 i
BB % PO TR HRAT & 47.5 0 47.5 66 i
TREEE % PO R RAT & 47.5 0 47.5 67 i
XIE % PO R RAT & 47 0 47 68 5
SANITEES % PO R HRAT & 47 0 47 69 i
B S % PO R RAT & 47 0 47 70 5
Ptk % PO R RAT & = JEE ISy & 42 5 47 71 5
JEEE % PO R RAT & = JEE ISy & 42 5 47 72 5
Tk % PO R RAT & 46.5 0 46.5 73 i
Xk % VIR HRAT & 46.5 0 46.5 74 i
N L VIR HRAT & & JUEEI Sy & 41.5 5 46. 5 75 i
Ly % ViR HRAT & & JUEEI Sy & 41.5 5 46.5 76 i
KA L ViR HRAT & & JUEE ISy & 41.5 5 46. 5 77 &
BN % VIR HRAT & 46 0 46 78 i
FlEE L ViR HRAT & 46 0 46 79 &
BB % VIR HRAT & 46 0 46 80 i
TEREET % ViR HRAT & 46 0 46 81 i
X % VIR HRAT & 46 0 46 82 i
JARE % VIR HRAT & & JUEEI Sy & 41 5 46 83 &
LM % ViR HRAT & 45.5 0 45.5 84 i
Ly L VIR HRAT & 45.5 0 45.5 85 i
S L VIR HRAT & 45.5 0 45.5 86 i
T % ViR HRAT & 45.5 0 45.5 87 i
FitE % VIR HRAT & 45 0 45 88 i
VAT S PIT R RAT & 45 0 45 89 5
XI5 % 7 TR ERAT 2 40 5 45 90 7
7K u PE TR HRAT £ 44. 5 0 44.5 91 5
S u PIT R RAT £ 44. 5 0 44.5 92 5
(22 % PE TR RAT P 44.5 0 44. 5 93 7
AR u PE TR HRAT & 44 0 44 94 5
21 L S PE TR RAT & 44 0 44 95 5
TEF A S PE TR RAT & 44 0 44 96 5
G675 % PIT R RAT 2 44 0 44 97 N
kT % PE TR RAT & = FUEEI S & 39 5 44 98 5
i B4 u PE TR RAT £ 43.5 0 43.5 99 5
BR AT u PIT R RAT £ 43.5 0 43.5 100 5
4 B u PE TR RAT £ 43.5 0 43.5 101 5
TAEH u PE TR RAT £ 43.5 0 43.5 102 5
=2 u PE TR RAT & 43 0 43 103 5
Pl u PE TR RAT & 43 0 43 104 5
R W TR 54 PR RAT & 43 0 43 105 5
fEE 54 PR RAT & 43 0 43 106 5
EI5)E S PI TR AT & = gy & 38 5 43 107 i
Yttt S PI TR AT o & FEEm sy & 38 5 43 108 %
ik 5’ PR RAT £ 42.5 0 42.5 109 5
Je & 54 PR RAT & 42 0 42 110 5
Wh A 54 PI TR AT & 42 0 42 111 5
YE RS 54 PR RAT & 42 0 42 112 5
it i % PR RAT o & FEEm sy & 37 5 42 113 %
ki 54 PR RAT & = gy & 37 5 42 114 i
OER 54 VIR RAT £ 41.5 0 41.5 115 s
iR 54 VIR RAT 7 41 0 41 116 s
LS S VIR RAT 7 41 0 41 117 s
EEd 54 VIR RAT 7 41 0 41 118 s
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2= % PO R RAT & 41 0 41 119 i
B % PO R HRAT & 41 0 41 120 i
7k i % VIR RAT & 40.5 0 40. 5 121 i
CES % PO R RAT & 40.5 0 40. 5 122 i
BRI % PO R RAT & 40 0 40 123 5
LF50 % PO R HRAT & 40 0 40 124 5
i % PO R RAT & = JEE ISy & 35 5 40 125 5
2R % PO R RAT & = JEE ISy & 35 5 40 126 5
5 % PO TR HRAT & 39.5 0 39.5 127 i
X % PO R RAT & 39.5 0 39. 5 128 i
pie % PO R RAT & 39.5 0 39. 5 129 i
T2 % PO R HRAT & 39.5 0 39.5 130 i
JARR % PO R RAT & = JEE ISy & 34.5 5 39. 5 131 5
TS % PO R RAT & = JEE ISy & 34.5 5 39. 5 132 5
ZAERE % PO R RAT & = JEE ISy & 34.5 5 39.5 133 5
K % PO R RAT & 39 0 39 134 5
CPE L VIR HRAT & 39 0 39 135 i
A AER L VIR HRAT & 39 0 39 136 i
LR % ViR HRAT & 39 0 39 137 i
i L ViR HRAT & 38.5 0 38.5 138 i
THRE | & VIR HRAT & 38.5 0 38.5 139 i
s % ViR HRAT & & JUEEI Sy & 33.5 5 38.5 140 &
TIRE L VIR HRAT & 38 0 38 141 i
HRE % ViR HRAT & 38 0 38 142 i
Rl % VIR HRAT & 38 0 38 143 i
W 4 75 L VIR HRAT & 37.5 0 37.5 144 i
AFEE % ViR HRAT & 37.5 0 37.5 145 i
HiEE L VIR HRAT & 37 0 37 146 i
BHEE % VIR HRAT & 36.5 0 36.5 147 i
i R % ViR HRAT & 36.5 0 36.5 148 i
KR L VIR HRAT & 36 0 36 149 i
AN u PIT R RAT £ 35.5 0 35.5 150 5
¥R u PE TR RAT £ 35.5 0 35.5 151 5
R % PE TR HRAT & 35 0 35 152 5
G E u PIT R RAT £ 34.5 0 34.5 153 5
LSS S PE TR RAT & = FUEEI S & 29. 5 5 34.5 154 5
kRN u PE TR HRAT & 34 0 34 155 5
TE u PE TR RAT & 34 0 34 156 5
KA u PE TR RAT £ 33.5 0 33.5 157 5
EFH u PIT R RAT & 33 0 33 158 5
[RARS: u PE TR RAT & 33 0 33 159 5
AT S PE TR RAT & 33 0 33 160 5
St % PIT R RAT P 32.5 0 32.5 161 N
XNE % PE TR RAT P 31.5 0 31.5 162 7
= u PE TR RAT & 31 0 31 163 5
JE B u PE TR RAT & 31 0 31 164 5
WEAE | & PE TR RAT £ 29.5 0 29. 5 165 5
JE STk 54 PR RAT £ 29. 5 0 29. 5 166 5
S 54 PR RAT & 29 0 29 167 5
rEE 54 PI TR AT & 29 0 29 168 5
Tk 54 54 PI TR AT £ 25.5 0 25.5 169 5
555 % PR RAT £ 25 0 25 170 %
JE 5% 54 PR RAT & 24 0 24 171 5
JH R 54 PI TR AT 5% 1 1 172 5
gk A% 54 PR RAT % 0 0 173 5
Rl 54 PR RAT S 0 0 173 5
Wi H S PR RAT % 0 0 173 5
B 54 VIR RAT % 0 0 173 s
% S VIR RAT % 0 0 173 s
JE 54 VIR RAT % 0 0 173 s
HCE S VIR RAT % 0 0 173 s
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XL %z PO T R RAT kg 0 0 173 5
PR % PO R RAT kg 0 0 173 5
M5 %z PO R B RAT kg 0 0 173 5
X J %z PO R B RAT kg 0 0 173 5
7R % PO R RAT kg 0 0 173 5
2RI %z PO R B RAT kg 0 0 173 5
KRE %z PO T R B RAT kg 0 0 173 5
i R Z PO R RAT kg 0 0 173 5
R EH % PO R B RAT kg 0 0 173 5
R %z PO T R B RAT kg 0 0 173 5
T %z PO T R B RAT kg 0 0 173 5
LEFE % PO R RAT 5% 0 0 173 5
O %z PO T R RAT kg 0 0 173 5
I %z PO R RAT 5% 0 0 173 5
R % 7T R B HRAT i 0 0 173 i
Rl % PO R RAT kg 0 0 173 5
LA | & PO TR B RAT e 0 0 173 5
TR VA 'S 7T R EHRAT B 0 0 173 FD
SEE 5’4 PO TR B RAT e 0 0 173 5
kA =~ 7T R EHRAT B 0 0 173 FD
BERUIETS =~ PO TR B RAT e 0 0 173 5
HZ 'S 7T R EHRAT B 0 0 173 FD
X143 'S 7T R EHRAT B 0 0 173 FD
Al =~ PO TR B RAT S% 0 0 173 5
A AE P % PO TR B RAT e 0 0 173 5
[E348 =~ 7T R EHRAT B 0 0 173 FD
FEHH % PO TR B RAT e 0 0 173 5
AR 2 =~ PO TR B RAT e 0 0 173 5
IR 5’4 PO TR B RAT e 0 0 173 5
et 'S 7T R EHRAT B 0 0 173 FD
s % PO TR B RAT e 0 0 173 5
REH % PO TR B HRAT B 0 0 173 5
BT % PO TR B RAT B 0 0 173 5
e °© 79T R HRAT [ 0 0 173 &
E=ZY % PO TR B HRAT B 0 0 173 5
BERREL| & PO TR B RAT [ 0 0 173 &
TR °© 79T R HRAT [ 0 0 173 &
T /N % PO TR B RAT Bt 0 0 173 5
A< FH % PO TR B RAT Bt 0 0 173 5
2N % PO TR B HRAT B 0 0 173 5
EHERE | & PO TR B RAT Bt 0 0 173 5
AR °© TR EHRAT [ 0 0 173 &
BEM °© PO TR B HRAT Rt 0 0 173 5
akgEr °© PO TR B RAT [ 0 0 173 &
B4 75 % PO TR B RAT Rt 0 0 173 5
CE$:8 % PO TR B RAT Bt 0 0 173 5
FHEW % PO TR B RAT Bt 0 0 173 5
A BEYE 5’ 79T R AT Rt 0 0 173 5
SEW 5’ PO TR B ARAT Bt 0 0 173 5
KPR 5’ PO TR B ERAT Bt 0 0 173 5
2t 5’ PO TR B ARAT g 0 0 173 5
Tingyu % 7 TR AT T 0 0 173 5
Z=H0E % PO TR B ARAT Bt 0 0 173 5
A 5’ PO TR B ERAT Bt 0 0 173 5
KL E 5’ PO TR B ARAT Bt 0 0 173 5
I N SE 5’ 79T R AT B 0 0 173 5
N % PO TR B ARAT g 0 0 173 5
K % PO T AR B RAT Bt 0 0 173 5
A % PO AR B RAT Bt 0 0 173 5
FWF % PO T AR B RAT Bt 0 0 173 5
2l % PO AR B RAT Bt 0 0 173 5
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TS % PO R RAT S% 0 0 173 5
LRE % PO R HRAT R 0 0 173 5
ER % VIR RAT R 0 0 173 5
TR % PO R RAT R 0 0 173 5
EF] % PO R RAT R 0 0 173 5
FE %« PG R BARAT RERA R &
M A %« PG TR BARAT RERA R i
LES:) % 7 TR B RAT RERA R &
LTS iz 7 TR B HRAT RERA R &
Ly EE % 7 TR B RAT RERA R &
7E iz 7 TR B RAT RERA R &
il % 7 TR HRAT RERA R &
W % 7 TR B RAT RERA R &
o iz 7 TR B RAT RERA R &
KEX S 7 TR HRAT RERA R &
UiF % 7 TR B HRAT RERA R &
fE—JL % PG TR BARAT RERA R i
Ik EM % PG TR BARAT RERA R i
s % PG TR BARAT RERA R 2
FAEH % PG TR BARAT RERA R i
B % PG TR BARAT RERA R i
EiEH % PG TR BARAT RERA R i
KB % PG TR BARAT RERA R 2
/NG % PG TR BARAT RERA R i
EXF % PG TR BARAT RERA R i
sk % PG TR BARAT RERA R i
T0H % PG TR BARAT RERA R i
WRI5 A % PG TR BARAT HE AR 2
=)/ % PG TR BARAT RERA R i
EHE % PG TR BARAT RERA R i
kB % PG TR BARAT HE AR 2
B S 7 TR HRAT HE AR 2
SEETRY S 7 TR ERAT SR AR 2
T S 7 TR ERAT SR AR 2
B 15 48 S 7 TR B ERAT SR AR 2
¥ S 7 TR ERAT SR AR 2

s | % 7 TR ERAT SR AR 2
EHH S P TR ERAT SR AR 2
ERAT] S 7 TR ERAT SR AR 2
et S 7 TR HRAT HE AR 2
ZH S 7 TR ERAT SR AR 2
e S 7 TR ERAT SR AR 2
HI2ET S 7 TR B ERAT SR AR 2
X138 S 7 TR ERAT SR AR 2
W S 7 TR ERAT SR AR 2
HEY S P TR ERAT SR AR 2
et S 7 TR B ERAT SR AR 2
L S P TR ERAT G AR 2
Wi S P TR B ERAT G AR 2
1 S P TR AT G AR 2
I R 2% S P TR AT LEARYN 2
X35 S P TR ERAT G AR 2
it 5 KBREHRIT o o FFE N4y P 55 5 60 1 o
kK IR 5 KBREHRIT o o FFE N4y 2 52.5 5 57.5 2 o
BES % KA AT & 56. 5 0 56. 5 3 =
75 B R 5% KBREHRIT o o FFE N4y 2 50. 5 5 55.5 4 o
SER % IR P HRAT & 52 0 52 5 =
LSl 5 RIBREHRIT o o FFE Ny o 47 5 52 6 2
2= bk 5 RIBREHRIT o o FFE Ny o 46 5 51 7 2
ERAahE % KA P RAT 7 50. 5 0 50. 5 8 =
pay= 5% RIBREHRIT o o FFE Ny o 44 5 49 9 2
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TR 5 KR ERAT & 47 47 10 =
Pk 5 KIER FRAT & & JEE ISy & 41.5 5 46. 5 11 &
LR 5 KIBR FERAT & = JEE ISy & 40.5 5 45.5 12 =
BT 5 KIBR FERAT & 45 45 13 &
Bk 5 KR EHRAT & 44. 5 0 44.5 14 &
s 5 KR EHRAT & = JEE ISy & 39.5 5 44.5 15 =
TE 5 KR ERAT & 44 0 44 16 &
B 5 KR EHRAT & 43.5 0 43.5 17 =
RA A 5 KR EHRAT & = JEE ISy & 38.5 5 43.5 18 &
JRR A, 5 KR HRAT & = JEE ISy & 38.5 5 43.5 19 =
AR 5 KR EHRAT & = JEE ISy & 37.5 5 42.5 20 &
Z= R 5 KR EHRAT & 41.5 0 41.5 21 =
Mg 5 KR EHRAT & = JEE ISy & 36.5 5 41.5 22 &
B 5 KR EHRAT & 40.5 0 40. 5 23 i
ERFF 5 KR HRAT & = JEE ISy & 34.5 5 39.5 24 5
(5T 5 KR HRAT & = JEE ISy & 33.5 5 38.5 25 i
R % KIBARBEHEAT & & SRSy & 33.5 5 38.5 26 i
KK % KIBARBEHEAT & 36.5 0 36.5 27 i
A 7K % KIBRBEHRAT & 35 0 35 28 i
SRR % KIBARBEHEAT & 32.5 0 32.5 29 i
o8 % KIBARBEHEAT & 31.5 0 31.5 30 i
DIEFE % KIBRBEHRAT & 21 0 21 31 i
B % TR B ARAT B 0 0 32 %
XIJEER % KRR B ARAT B 0 0 32 %
M 5 TR B ARAT B 0 0 32 %
Yy % TR B ARAT B 0 0 32 %
KR % TR B ARAT B 0 0 32 %
HR % TR B ARAT B 0 0 32 %
it 5 % TR B ARAT B 0 0 32 %
LTSS % TR B ARAT B 0 0 32 %
OER 5 TR B ARAT B 0 0 32 %
g 5 KIBA AT g 0 0 32 5
Iy B FOHR B ARAT RERA R 2
Jifi B FOHR B ARAT RERAR 2
©T B FHBR B ARAT RERA R 2
KA % KIBA AT o & FUEEI S & 65 5 70 1 2
L S KIBA AT 2 & FUEEI Sy & 56 5 61 2 2
] S KIBA AT & = FUEEI S & 54 5 59 3 =
e S KIBA AT & = FUEEI S & 54 5 59 4 =
S wa u KIBA AT & 58.5 0 58.5 5 =
ki S KIBA AT o & FUEEI S 2 53.5 5 58.5 6 2
ESE] S KIBA AT & = FUEEI S & 51.5 5 56. 5 7 =
Tk u KIBA AT & = FUEEI S & 51.5 5 56. 5 8 =
BT % KIBA AT 2 56 0 56 9 2
ZE= u KIBA AT & = FUEEI S & 51 5 56 10 =
TR % KIBA AT o & FUEEI S 2 50 5 55 11 2
RIEIE u KIBA AT & 54. 5 0 54. 5 12 =
St S KA AT o & FEEIN Sy & 49.5 5 54.5 13 2
1B EE S IR P HRAT & 54 0 54 14 5
k] S IR B HRAT & 52.5 0 52.5 15 =
LI =EAN 54 RO AR B HRAT & = FEIN 4y & 47.5 5 52.5 16 &
LEZ S KA AT & = FEIN 4y & 46.5 5 51.5 17 =
AT % IR P HRAT o & FEEm sy 2 45.5 5 50. 5 18 2
1BHE % IR B HRAT o & FEEm sy 2 45.5 5 50. 5 19 2
TR % KIBREHRIT 2 50 0 50 20 2
i % KBREHRIT o & FEEm sy & 45 5 50 21 2
AT S IR P HRAT & = FEIN 4y & 45 5 50 22 =
Tk T5 54 KA P RAT & = FEIN 5y & 43.5 5 48.5 23 &
0 54 KA AT & = FEIN 4y & 43.5 5 48.5 23 &
A 54 KA P RAT £ 47.5 0 47.5 24 s
XELELE 54 KA AT £ 47.5 0 47.5 25 s
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HE %z KR FEHRAT = = JEEIN Sy £ 42.5 5 47.5 26 5
R % KIER FRAT 2 47 0 47 27 5
NA T % KIAAR FEHRAT = = JUEEIN Sy & 42 5 47 28 5
BT %z KIBAR FEHRAT = = JEEIN Sy & 42 5 47 29 5
1 % KR FEHRAT = = JEEIN Sy & 42 5 47 30 5
EREESS % KIAAR FEHRAT = = JUEEIN Sy £ 42 5 47 31 5
ZEARE %z KR FEHRAT = = JEEIN Sy & 42 5 47 32 5
AB/NHE % KR FEHRAT = = JEEIN Sy £ 42 5 47 33 i
S % KR FEHRAT = = JUEEIN Sy £ 41.5 5 46.5 34 5
A %z KIBR FRAT 2 46 0 46 35 5
MEAT %z KR FEHRAT = = JEEIN Sy & 41 5 46 36 5
i % KIBR FEHRAT = = JUEEIN Sy £ 40. 5 5 45.5 37 5
Pyl %z KR FEHRAT = = JEEIN Sy £ 40. 5 5 45.5 38 5
I %z KIAR FEHRAT = = JEEIN Sy & 40 5 45 39 5
e % KIBR FEHRAT = = JEEIN Sy £ 40 5 45 40 i
SR % KIER FERAT = = )k by & 39.5 5 44.5 41 5
BREE % RIBAR i HRAT = = FEEm gy £ 39.5 5 44.5 42 5
&7 =~ RIBAR i HRAT & 44 0 44 43 &
DA =~ RIBR i HRAT £ 44 0 44 44 5
(e % KB AR AT = = JUEEIN S £ 39 5 44 45 FD
RAE T 'S KB AR AT = = JUEEIN Sy £ 39 5 44 46 FD
o =~ RIBR i HRAT £ 43.5 0 43.5 47 &
i ER % RIBAR i HRAT = = FEEIn sy & 38.5 5 43.5 48 &
HESCEr | & KB AR AT = = JUEEIN Sy £ 38 5 43 49 FD
R S % RIBAR i HRAT = = FEEIn gy £ 37.5 5 42.5 50 5
/N 'S KB AR AT = = JUEEIN Sy £ 37 5 42 51 FD
/N 'S KB AR AT = = JUEEIN Sy £ 37 5 42 52 FD
B3 'S KB AR AT = = JUEEIN Sy £ 37 5 42 53 FD
EP o | & RIBAR i HRAT = = FEEIn gy & 36. 5 5 41.5 54 &
055 % RIBR i HRAT = = FEEIn gy £ 36.5 5 11.5 55 5
(A% =~ RIBAR i HRAT & 41 0 41 56 &
EREPS % FIBAR i HRAT & & FEIn gy £ 36 5 41 57 5
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